—— A
N = 0] &F AF S & AN A
SM SAHED
H: CAZCIHE & WS (2ELXAMNL /NI L Al
Sl TAIREIHE LY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
T Al HE 2,691,654 2,976,749 A 285,095
= 100,000
Al 2,591,654
SAZCHE L N (2ELXGNL /XL Al 2,606,580 2,885,990 N279,410
o= 100,000
Al 2,506,580
SAZE HE S 82,750 124,510 AN41,760
TCAHESR 22 2H 77,600 69, 360 8,240
201 et 61,040 52,800 8,240
01 AP 2t 2] H| 45,040 36,800 8,240
O gbktx==H| 19,680
o STAHEZF NE 2=
3,696,000& = 53| 18,480
o CTAHERKS AIREE 2
75,000& * 163 1,200
O 2g9=¢ 25,360
o SAHEAKXS (ZAHE, K, 2594
3l) 25,360
- ARG 100,000& * 15 x 163 24,000
- gl 85,000& x 1¥H * 163 1,360
02 B32%H| 16,000 16,000 0
O A& &EHls Xl 16,000
o TAHEEEMAHUPIS) AMA L HH &
X 22 16,000,000& = 1A 16,000
202 044l 10,560 10,560 0
01 2Ll 10,560 10,560 0
O ZAAHE g2FX
20,000 * 2% « 52 x 128 2,400
O SAHERRS M (E - =)
85,000 » 2% x 32 * 163 8,160
203 €2 F=&d| 6,000 6,000 0
03 Al ZH =X A 2= XIH| 6,000 6,000 0
O He8nNsE g2FN 6,000,000& = 1A 6,000
MRS ES ALY 5,150 5,150 0
202 o4 | 5,150 5,150 0
01 2L I 5,150 5,150 0
O AtSHHEAIY SRFX L SY o
20,000& = 18 = 82 = 12& 1,920
O Z2Jt - LBHAA ST XA (HE) dRE(E
- =) 85,000& x 28 * 32 x 33 1,530
O HWM=X Z=EAY 28 282 & 3o F
A - =) 85,000& x 28 * 22 x 53] 1,700
SANE MYET 1,733,000 2,100,000 367,000
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el
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
22X E2HESAM 1,733,000 2,000,000 A 267,000
401 Al HI K 201 I 1,733,000 2,000,000 A 267,000
01 A& Bl 1,726,762 1,992,800 A 266,038
O 24+FY0X T2HA
1,733,000,000& * 99.64/100 1,726,762
03 Al 2 THHI 6,238 7,200 A 962
S&FEU T2IH4E(0.36%)
6,238,000& = 14 6,238
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01 At 22l 10,400 12,350 A 1,950
O L=t 10,050
o MEBALIM S8 - =8 W&
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O 2g=¢ 350
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O 8202 TANY Y2EA
20,000& = 2 * 2¢& * 123 960
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202 o4dl 680 680 0
01 = LH o4 Hi 680 680 0
O MEB02 Z8AY d2FX L ARF (&
- EBY) 85,000& » 298 = 2 « 23| 680
A IR AL 1,440 1,360 80
202 O4dl 1,440 1,360 80
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2N
X ZH -
L= B
el

S ALH =

SAZeHE 2 HE(2E

SAIZ2 2&e

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
202 o4 | 1,920 1,920 0
01 2L I 1,920 1,920 0
O FBYY MNBXY BHZEA
20,000& * 39 * 22 x 163 1,920
SCAYE X4 2 24 | 50,000 40,000 10,000
401 Al EHI L 204 HI 50,000 40,000 10,000
1 Al&H| 49,460 39,568 9,892
O =4 o5 x4 Y Y|
50,000,000 = 98.92/100 49,460
03 Al 201 Y| 540 432 108
O =4 o3 T4 Y Y|
50,000,000 = 1.08/100 540
TASY =3AY 50,000 10,000 40,000
401 Al HI L 2 0HHI 50,000 10,000 40,000
01 Al & H| 49,460 9,892 39,568
O EAsSY =3AY
50,000,000 = 98.92/100 49,460
03 A& E20HH] 540 108 432
O EasSY =3AY
50,000,000 = 1.08/100 540
OlEEIY YHSAY 40,000 0 40,000
& 40,000
401 Al HI L £ 0HHI 40,000 0 40,000
= 40,000
01 Al& B 39,568 0 39,568
O OIEEY HSIAY
40,000,000 * 98.92/100 39,568
& 39,568
03 A& E2HH]| 432 0 432
O OIEEY HSIAY
40,000,000 = 1.08/100 432
= 432
DAH(CHEYI )= Y5 A (HE M)A 30,000 0 30,000
401 A& HIZL 2 0HY| 30,000 0 30,000
01 Al& b 29,676 0 29,676
O DAM(HEHZ)Z=H Hat HY|I(JHEZA) At
A(FOIEN) 30,000,000 = 98.92/100 29,676
03 AlEE20HH]| 324 0 324
O DA(HEYIZ)FS =5 JUl(WSA) A
A(FOEN) 30,000,000 = 1.08/100 324
2= Z2H0OIE =Y ot AHe| LAY 200,000 0 200,000
401 AlEHIZ £ 0HY| 200,000 0 200,000




SH ZAHED
Ha: SARNE L HL(BERNANL/NALEA)

Ehelr S AIZ 2 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 198,560 0 198,560
O =5 ROOIE =8 et el T8 A Y
00,000,000 * 99.28/100 198,560
03 AlE 2 THHI 1,440 0 1,440
O =58 ROOIE =8 ¢t el ZEAY
200,000,000% = 0.72/100 1,440
S ZO0HIHE 33X S8 HUIAY 25,000 0 25,000
401 A& HI R 201 I 25,000 0 25,000
01 A& HI 24,730 0 24,730
O SZOHIHE 33X % HUIALY
25,000,000 * 98.92/100 24,730
03 A& 2 THHI 270 0 270
O SO0 E 33X 2 FUIAY
25,000,000& =+ 1.08/100 270
SNE 52 ZEeX AY 200,000 0 200,000
401 AIEHI L 2] 200,000 0 200,000
01 A& Hl 198,560 0 198,560
O sitg 5l ZHZelX At
200,000,000 * 99.28/100 198,560
03 Al 2 THHI 1,440 0 1,440
O sitg 5l ZHZelX At
200,000,000 = 0.72/100 1,440
S3t2 el Hat gAY 50,000 0 50,000
401 AIEHI L 2 CHYI 50,000 0 50,000
01 A& Bl 49,460 0 49,460
O MES Sz Hel Hetag
50,000,000 = 98.92/100 49,460
03 Al S THHI 540 0 540
O MES =2 Hel Hat A
50,000,000& * 1.08/100 540
A AYZ HsiHe =4 20,000 0 20,000
401 AIEHI L 20HYI 20,000 0 20,000
01 A& HI 19,784 0 19,784
O & AMU=2 et
20,000,000 = 98.92/100 19,784
03 Al S THHI 216 0 216
O & Y=z Ese
20,000,000 = 1.08/100 216
ANES HstA Y 60,000 0 60,000
< 60,000
401 Al HIZ 2018 60,000 0 60,000
< 60,000




SH ZAHED
Ha: SARNE L HL(BERNANL/NALEA)

Ehelr S AIZ 2 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 59,460 0 59,460
O NMES HatAr 60,000,000& * 99.1/100 59,460
= 59,460
03 Al S HHI 540 0 540
O ANXS HstAe 60,000,000& * 0.9/100 540
< 540
A2 (SAIHED)(IIEH/IIE) 85,074 90,759 A5,685
ol 2d | 13,446 13,446 0
ol 2A Y| 13,446 13,446 0
101 @124l 13,446 13,446 0
03 RIHAZ 22+ 13,446 13,446 0
O AM2AZ2RE 13,446
o OIB>AZ(ARH)
12,3113 = 2H » 20AI2F = 128 = 150% 8,864
o bHB(NEH=)
12,7273 » 18 » 20AI2t = 128 = 150% 4,582
Jl= &l 71,628 77,313 A5,685
Jl=dl 71,628 77,313 A5,685
201 Let249] 40,242 43,753 23,511
01 At 22l 35,402 38,913 23,511
O LBt==ZHl SHA & 12,000,000& * 14 12,000
O 2824 SUHL(NYAAS)
100,000& = 5% « 33/ 1,500
O SEH SHAH L 21,902,000 = 14l 21,902
02 =24l 4,840 4,840 0
O Xt& - &kl 4,840
o |RFH ¥ NHSIHA
220,000& = 104 ~ 123 2,640
o XtE=eldl, 2L uE, AKX S
550,000& = 104 » 43 2,200
202 O4dl 21,186 24,360 A3, 174
01 = LH 4 Hi 13,506 16,680 N3, 174
O BN2E SUNHY 13,506,000& * 14 13,506
02 MO 7,680 7,680 0
O g9t (SgHed? NEex)
160,000& » 4% » 128 7,680
203 YR =&t 10,200 9,200 1,000
01 )1 22L =8 6,000 5,000 1,000
O dens=% 6,000,000& = 14 6,000
04 FN2ELRZ=TH| 4,200 4,200 0
O SAAED(22F) 350,000& = 12& 4,200




